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Reading Comprehension

Read the following two passages and select the answer choice (1), (2), (3), or (4) that best answers each question. Then mark

the correct choice on your.answer sheet.

PASSAGE 1

The world is/going/through some _profound changes: automation and general improvement of productivity is resulting in the
abundance'of industrial products, the domination of the West in global economy and politics is challenged by the rise of the
BRICS economies, particularly in Europe demographic changes are resulting in an ageing society, and finally, the electronic
communication revelution is changing the ways in which elements in a society are held together influencing all aspects of
economy, research, learning, living, media etc. Civil engineers and their forerunners have been shaping the infrastructure of
societies for millennia. Here we will explore how the listed trends will affect the civil engineering work and where civil engineers
will be able to contribute. While the relative contribution of the construction industry to the jobs creation and economic growth
will continue to decline, there are substantial opportunities in comparison with some other engineering industries, in particular
in the areas of climate change and globalization. There are some lessons in particular with earthquake engineering - the notion
of resilience - which can be borrowed by economics and finance.

56- Which of the following is the best title for the passage? {iranarze.ir)

1) The Relative Contribution of the Construction Industry to The Jobs Creation

iranarze.ir 1PRY (63w sga g pSmo ol sOLaidt Gladline wlisi 35 ottt Y 1w
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2) The Significant Role of Earthquake Engineering in Today's World

3) Global Challenges and the Role of Civil Engineering

4) New Trends in the Western World

57- The passage refers to all of the following changes in today's world EXCEPT {iranarze.ir)

1) the abundance of industrial products 2) a reconsideration of the energy system

3) societies with a large number of senior citizens  4) the way elements in a society are held together

58- The author argues that compared to other engineering industries, the construction industry offers opportunities in the

fields of ......... (iranarze.ir)
1) media and globalization 2) climate change and automation
3) media and climate change 4) climate change and globalization

59- The word "substantial" in line 11 is closest in meaning to...... (iranarze.ir)

1) considerable 2) desirable 3) comparable 4) profitable

60- (prepared by iranarze.ir)The passage is most probably ...................... {iranarze.ir)

1) part of a company bulletin 2) part of a popular magazine

3) the abstract of a journal article 4) the discussion séction of‘a research, article
PASSAGE 2

Reliable estimates of construction costs and schedules presented by contemporary.€onstruction companies, their consultants,
and suppliers at the time of project approval areimportant for-justifying a.project on economic ground and for planning the
means of financing it. The economic impact-of‘a construction.cost overrun is the possible loss of the economic justification for
the project. A cost overrun can also.be critical for creating policies within sustainable development on the basis of economic
costs. The financial impact of a cost overrun also'results,in demand for-construction investments credits. The paper presents a
case of construction cost analysis for wooden energy efficient house that meets sustainable aspects. Analyzed object is
characterized by high costs of the construction investment, which result from specific characteristics of the construction output
(energy efficient wooden house). In‘the result of analysis of the construction investment costs for the efficient wooden house
and its comparison with the costs of traditional/construction investment on maintenance costs, it can be stated that additional
cost resulting from the energy efficient house building is higher than costs of traditional construction investment (about 10%)
and it can be treated as the investment in the energy efficient house solutions since it brings savings for home expenditures
(5% annually).

61- Which of the following is the best title for the passage? { iranarze.ir)

1) Energy Efficient Construction Projects 2) The Dangers of Construction Cost Overrun

3) Sustainable Develepment and Economic Costs 4) Construction Cost Analysis and Its Importance to Economy

62- The word "it" in line 4 refers to .......ccceeeeruee (iranarze.ir)
1) project approval 2) a project 3) the economic impact  4) economic ground
63- The purpose of the passage is to .......cccvneene. (iranarze.ir)

1) present the case of construction cost analysis for wooden energy efficient house
2) present the case of construction cost analysis for traditional houses

3) describe specific characteristics of a construction output

4) evaluate the maintenance costs of modern houses

64- The word "it" in line 16 refers to ...........ccceeeeeeeee (iranarze.ir)

iranarze.ir 1PRY (63w sga g pSmo ol sOLaidt Gladline wlisi 35 ottt Y 1w
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1) additional cost 2) the investment

3) traditional construction 4) the energy efficient house
65- According to the passage, the investment saved tIE’pugh the energy efficient house is estimated to be ..........eeeee

1) 10% per month 2) 5% per month 3) 10% per year 4) 5% per year
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